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Pudftr N 01 funLrIp N 01 nruu N 01 Opbfuurlfrp tr qnpdtu4Jrp rlurprlJrbtrbp, rqbtnur[utr !urnru{rupnrrl

l. Qnpdrurlfrp f2furutrnrplutr, qbrnurllufu QurnutlruprluL hrutrpuqbrnrulrutr L tnupur6pulfrb !runu{urprlutr
rfuunrjhtrtrbnh ruuhuruhnrrl (trufuurnuntrbnh urrlururnrutrtuqrlbnh rftuund)

17901,7

uuut.u.qnuLer,bn 6052.3
09132100/1 pbtrqhir, qnbtlhnrrl c< rhnn 480.0 6,r40.0 2947.2

09132200/1 pbtrqhtr, nbqnrllrup c< lhmn 460.0 2,670.O 1228.2

09211110/1 )rundhrh rnrn, bhuruuhbBbmhh c< rhmn 3.000.0 20.0 60,0

22211300/1 u.runnbn uLurfu ilrurlnrr pcu< rlnurl 251.400.0 1.0 251.3

22411150/1 trnplurnbrnnbn c< hurn 230.0 20.0 4.6

22411140/1 onuqnbn h udbtrontru trrnrr.lfubnh rnbmnbn c< huur 1,200.0 r4.0 16.8

30121460/1 unbbnrurh! Drunmnholbn c< hruur 9,000.0 6.0 54,0

30121460/2 r.n nhbnurhtr punur nhgtlbn c< hurr,n 9.000.0 6.0 54,0

30121460/3 rnnfu bnurhtr puinmnhgtlbn c< hutn 9.000.0 6.0 54,0

30121460/4 tnn!bnurrhb punmnhqtbn c< hurn 9,000.0 5.0 45.0

30121460/5 mntrbnturhL DunmnhgLbn c< hrum 12.000.0 1.0 12,0

30192100/ nbmhtr hruuunrulr c< hutn 100.0 50.0 5.0

30192128/ qpfrl qblullttr c< hruut | 50.0 40.0 6,0

30192135/ [nu$hmb dhonrL, rftuurhuh hrurluP c< ur nrrlr 300.0 t4.0 4,2

30192136/ rjur rn h rn. qn ru$h ur b, ur bn ru nn rl n 4 rlhpn lk n rl c< hurm 200.0 20.0 4,0

30192137/ rJururhm, qnu$hmb rlhqnrhn{, huruuprul.l c< hrur,n 100,0 14.0 1.4

30192160/1 lrnnhfutrbn c< hurn 280.0 30.0 8,4

30192220/1 u{ n f' dbp u1 tt! frtrBtr u \ q1n rtr dtu u1 ru rlbb,

1 9rJrJx36d o.n u ubfu rruUurrh!, rhnpn

c< hrurn 40.0 20.0 0,8

"ffiq)71o-/1
un uliudturn h rn, qnuubtrtruUuth! c< huu 200.0 52.0 10.4

30192720/1 odutrrhr c< hurrn 250.0 33.0 8.3

30192760/1 unhr. unrlnnruLurtr c< hrurn 100.0 40.0 4,O

30192741/1 borupudtutrht, laqpb c< htuur 340.0 60.0 20,

30193110/1 qpbt ru\rutr qf tn nrlptbp[ 4uurur{nprlutr
h,rrrfrrrnrrrhnhhn lr trunurouLbn

c< hruur 2,700.0 3.0 8,

30197111/1 trurnhrh rlbm urnutrunb Urutqbp, +npp c< mnrrh 100.0 10.0 1.0

3019711'2/1 trurnhrh rlbmunutrunb Uruqbp' dhghtr c< r,nnrfi 200.0 10.0 2.0

30197231/1 ran laru ut rutr u L, ut n t h dbn urthtr pru qurbp' $ruj I c< hurn 10.0 1,080.0 10.8

a.rl1a7)',,L/1 Bnptuqrutrurl{, qnZt \*q&{ c< hruur 900.0 30.0 27,O

30197321/1 Lrunhl, rJhtuLt 20 BbnBh hrurftuP c< hurn 600.0 4.0 2,4

30197322/1 brunhr. 20-50 rahnBh hrurftun c< hrur.n 1,200.0 6.0 7.2

30197631/1 rantnra, A4 $nnrlruurhl /21x29.7/ c< urnrrh 1,800.0 158.0 284,4

30199420/1 pn Lnp trlnrrlbbnh hrurlun, un utrhrlu0pn{ c< mnrrfr 250.0 15.0 3,75

?n1qq4?n/'l ranln ra tl?ntilhbnh, m nquUtrbnnrl c< rnnrrft 350.0 15.0 5,3

30234300/1 nurmulnb uburlrunruu, unruhq tnnrrlrfr, CD c< hum 150.0 200.0 30,0

30234620/1 c< hrur,n 2,600.0 4.0 I U'"

c< hurLn s.600.0 3.0 10.8
30234630, I brbr hhrnnntratntU, 6bb

12,000.0 3.0 36,0
30236100-1 hruriru\upqlJr h[r2nqnrp;nrtrp rlbdugbnrl

uurnobn

c< huu

c< hrurn 12,000.0 6.0 72,O
30236100/2 hurdrullupqlfr h[2nr1nrp1nrtup rlb0rugfu n1

uunDhn

30236110/1
t, t c< huur 25.000.0 2.0 50,0

c< hrum 6,000.0 5.0 30,0
30237112/1

c< htum 30.000.0 t.0 30,0
UulnuUuu tUlrutntuuull

79,500.0 1.0 79,5
31431100/1 ,1,'.'t'1, l'-,'nrrrlrh<trh c< hrun

c< hur,n 45,000.0 3.0 135,0
31431100/2 pcu< htuur r,800.0 12.0 21.6

Ubmuintu nulnquuulnu luruu{
1.700.0 12.O 20,4

?1q1)))i/1 rlbu urn1u hulnqhtrul[rtr trutlu{ 75'lm FCU< hrurn

31 531 21 0/1 l-rbLrnnuLtuL rudru, 60W, 80W' 100W FCU< hrum 100.0 50.0 5,0

31 531 500/1 qbnbLwthfu lurftu 60utl FCU< hur 400.0 25.0 10,0

hrurn 500.0 45.0 22,5
31 531 600/l obnbtrru r htr r ru dut 1 20ur.t pcu<

pcu<
pcu<

hru ur 1,600.0 t5.0 24,O
31 685000/1 hr bLm nuLrutr bnh,un,t,g,!qt 1url-

hrur.n 100.0 5'1.0 5,1
33761000/1

c< hurrn 40.000.0 1.0 40,0
urUm nUtsBEUtuuEnfi uun{utrn

40.000.0 4.O r60,0
34351200/2 rud rn ndbBbbutrbnh rutrhrltubn c<

hum 300.0 24.0 7,2
39221130/1 pudruUtrbn FCU<



392634it/1 udnru!, ribLnwryu, r.hnpp c< urnuh r80.0 10.0 1,839263420/1 urrln ur!, rlbur urryru, rlbd c< mnt4t
htum

400.0 10.0 4,0ubqiluq, rhnpn
ubqduq, dhphtr
ublduq, dbd

c<
39263520/ 25.0 154.0 3,9

39263530/1
c< hum 40.0 r00.0 4.O

39513200/1
c< hurtn 60.0 50.0 3,0

44521170/1
ts,ltqu wuuurrr.glrq, uJil.{zqFtn

InnqbpLbn
FCU< hrurn 100.0 660.0 66,0
FCU< hurn 4,550.0 4.0 18.2pbbqhtr, rqnbdhnrrl c< thmn 350030121460/1 Ln ntrbnurhtr prun ulnhghbn c<
c<
c<

hrrr 630121460/2 Ln nLbntuthtr prunur nhgtrbp hrur,n 1030121460/3 u ntrbn ruthtr punrn nfrgtrbp hurr.n 16

11849-4501't1130/1 uqur nuEptrutuuEnn {bnuunpnqdutr
6untu lnrpgnrtrtrbp

FCU< npud 495,100.0 1.0 495,1

s0111180/l ur {rn n rlbp btr utr b p fr 1{ru g rftutr h tr rftutr u rn fr rq
6unutnrplnrtbbp

c< rlprurl 800,000.0 1.0 800,0

50321400/1 pugnrgfl (dulpurftuuulfrb) uuppbpf
qlI rutn pnqduh dunurnrrarnrtrfu hn

c< 'Ipruil 500,000.0 1.0 500,0

50321400/1 pugnrgfrl (6ru1p rurlruurulfrtr) uurppbpf
d bntutrnn ncdutr 6unrurnrralnrtrtrbn

c< tlp 
ru rI 1.0

50111180/1 ur {ur n rlbp btr rutr b p fr p{ru g dtutr tr b rftub u rn [r rq
6unurlnrratn rLtr bn

c< rlprurl
1.0

64211110/1 m br1u1 f ! h bnru [u n u u1 frt 6ur nrul n rp1 n rtrtrbp PCU< tlprurl 270.000.0 1.0 270,O
64211120/1 tlf 2purpuptulfrtr h bnurlun uru;frtr

dunu"rgnrBlnrtr!bp

pcu< tprurl 899,600.0 t.0 899,6

64211130/1 F!! u.t1 htr h b nru [u n utr b p fr 6ru nurl n rp1 n rtrtr bp Feu< tlprurl 1,226,000.0 t.0 1226,O
99500000/1 pln Lgbtrbpfr llrum tuprlutr rftuufr! ((

o p bL u rlp n Lpl ru rlp u u h rlurtr r{ru d rlb rqpb p n rrl
t{u plru 11 rutr ur ! rn fr h fr rlutr r{p ru rftu m n rg r{ud
6unru.;nrplnrtrtrbp

qau rlp 
ru rI 540 540,0

65111100/1 fuilblnr 2plr pru2funrrl pcu< 'Ipurl 50,000.0 1.0 50,0
65311100/1 b1bl1m pru!utr nrplutr pru2Junrrl PCU< tpurl 4,456,700.0 1.0 4456,7
665',t1170/1 rrh nluu 4p ru rlJrgngfu bptr hbrn lluq{ud

u u1 u h n r{ruqp ru 11 utr dur nul n rp1 n rltr bp

pcu< 'Ipud 200,000.0 1.0 200,0

72212227 /1 h u 11 u r{fr p n ru u1 Jrtr h ru rlru ! ru nqtu1 htr
61uqpu1 frb { upbptbpfr {2ullrlutr
0u nu rn rrarn rtrtr bn

c< rlprurl 500.000.0 1.0 500,0

72511100/1 9 urbs h !runrur{updutr dpuqpulfrtu
ru quhn rJrIruL 6runurnrtarnrlhbn

FCU< 'tpurI 280,800.0 t.0 280,8

79111200/1 trbp\rulugnrgluIrutr 6unrulnrplnrbfu bp FCU< npurrl 1.050.000.0 1.0 1050,0

79821170/1 rn q ruqp ru ! utr L ru nrupiftutr durnu1 nrp1n rfu trbp c< '[prud 31,200.0 1.0 31,2

99600000/1 Lbnphtr qnndnrnnril!bn qau tlnurl 550,0 1 550.0
Pudftr N O6 funLdp N 06 r}ruu N Ol Ptrru!uprutrrulfrtr 2frtrupupnrplrutr tr. llnrlnr'lru1 dunu.;nrplnrtrtrbp (u11

quubpfrtr 1u1urn tluLn 11)

l. Qnpdru4frp fr2fuurtrnrplrutr, 14brnulrub llrunur{ruprftutr hurbpruqburrullrutr h r.nurprudpulfitr lrunrur{ruprftutr
dupilftLbbpf rqruh14urtrnLrl (trrufuruprupnrplnrbbbpI ru2Jururnuluqdbpf duun{

63184,1

uuut.uqnuLPr,bn 18211.3
o9132200/1 rbtrqhtr, nbqnrrrurn G< rhuln 460.0 19,635.0 9032.1

41111100/1 nrJutbtnr onrn Peu< tlnrur.l 1818 66 120.0

22211100/1 BbnBbn pcu< rlnrud 70.000.0 1.0 70,0

22811150/ hnraurn brn nbn c< rlnud 230.0 100.0 23,0

22811180/ onuqnbn L urlbtrontur trrnrrltrbnh r.nbrnnbn c< hruur 1,200.0 50.0 60,0

22811190/ u?tuumutrputhtr qnBnr.tU c< hruu'r r.250.0 30.0 37.5

30121460/ rn ntrbnuthL prup r.n pfrgtrbp c< hrur,n 43.000.0 4.O 172.0

30121460/2 rn ntr bnturhtr pun m nhgb bn c< hrurn 48.000.0 3.0 144,O

30121460/3 r,n ntr bnurt htr prunrn nhobbn c< hrurn 48,000.0 3.0 144,O

30121460/4 m ntrbnurhtr purnm nhgtrbn c< hum 48.000.0 3.0 144,O

30164000/1 uttruumhh punm c< hruur 750.0 64.0 48,0

30192100/1 nburhL huuurnrulr c< hrum 100.0 70.0 7.0

30192128/1 qnhr qbturhtt c< huur 150.0 500.0 75.0

30192135/r qnu$hmb dhgnrt{, drurnhmh hurftup c< r,nnrrh 300.0 30.0 9,0

30192136/1 rlumhur, qnru$hmb, mbrltu4p{nq rlhlntln{ c< huur 200.0 60.0 12,0

30192137/1 rlruurhm, qnu$hmb rJhonrLnd, huurunrult c< hrum 100.0 50.0 5,0

30192151/1 Ltr hp, ru rl rn nrlurn, nrn n rutrltnrtt c< hru ur 8,000.0 3.0 24,0



30192152/1 Ltrho. urdmnrfrrrrn I

30192160/1 zmnhfubbn
c< htuu 8.000.0 3.0 24.O

30192220/1
c< hum 280.0 r40.0 39,2rr | | 1 | u u I r uJ 

J 
I u [r up u ur q qln ru dru u1 ru r{btr,

19rftIx36rJ onrrrrrhhrr,,l,,,rrht,,t -^-
c< hruur 40.0 80.0 3,2

38'0
30192710/1 [ur, qFruuEululquthu c<

c<
hurrn 200.0 190.030192720/1 +6rutrZht

30192760/1
huur 250.0 180.0 45,0ut.lrzt urrlrrlrwquu c< hruur 100.0 96.0 9,630192781/1 bgrupurdutrfrl, plpb c< hurn 340.0 r32.0 44,930193700/1 prlpu 4tup ruL1, hup! bpnr{, tqpuurn rlruub G< hruur 3,300.0 r0.0 33,0

hunhth rlbrn ruturltupb llru qbp, rrhnpp c< rnnufr 100.0 140.0 l4,o30197112/1 hunhth rllm rurltulurpb ! ruqbn, rlhohtr c< rnnnfi 200.0 90.0 18,030197231/1 prtpru u{ ruLr ru l{, q n fr rlbp tu I JrL Bur n ub n. $u | | c< hrurn 10.0 9.960.0 99,630197234/'l prlpuquLu!, Qn2ur Qruqrln{ c< hutn 580 133.0 77,14
30197321/1 !*fhr, dfrLlb 20 pbnph hrurlup c< hurn 600.0 70.0 42,0
30197322/1 Iurnhr, 20-50 pbpph hrurlun c< hurm 1,200.0 20.0 24.030197323/1 ttunht, 50-fr9 u{bfr pbppfr hurrlun c<

c<
hrur.n 8,000.0 3.0 24,O30197631/1 pnrtp, 44 $nnrlutnfrl /21x29.7/ mnufr 1580 350.0 553,0

30199231/1 buduhh 6nup, A5 ihrulrurfrJr c< hum 20.4 11,250.0 229,5030199420/1 pn rrtp tr2nrrltr bp fr h u rftu p, u n utrd rl urdon rl c< rnnrrh 250.0 180.0 45,030199430/1 pn rrlp L2nrdtr bnh, rn nq rutrtrbnnrl c< r,nnr.r[ 350.0 r80.0 63,0
30234300/1 +u.rurunq uquqqnuq, urnruuq mnrtlth, CD c< hrurn 150.0 566.0 84.9
30234620/1 $tb2 hfr2nrlnrplnr!, 4GB c< hum 2,600.0 23.0 59,9

$1b2 hfr2nrlnrplnrtr, 8GB c< hurur 3,600.0 6.0 21,6
30236100/1 h urftuLlupqlfr hfr2n qn rplnrtrp dhdugtrnrl

urunBhn
c< hum 12,000.0 4.0 48,0

30236100/2 h udrul.lupgl|r h[2n4nrp1nr!p rlbdrugtrnrl
uunpbn

c< hum 12,000.0 5.0 60,0

30236110/1 rqbprurn fr{ hfr2n 4nrB;nrtr (ram) c< nnurJ 25.000.0 4.0 100,0
30237111/1 utrnrgrlub rJrunrnLnq c< hurn 't0,000.0 30.0 300,0
30237112/1 utrnLqrluh plntp c< hrurn 6,000.0 30.0 180,0
30237140t1 rftuln urL utr q1 urn utr bn c< hurur 30,000.0 2.O 60,0
30237140/2 Lftutnru Lrutr wt ur m ulbbn c< hurn 30,000.0 2.O 60,0
39263310/1 onugnrtq, ubnruLh c< hrum 900.0 30.0 27,0
39263410/1 rur.ln ruh, rIbr.n tun tur, rh npn c< urnrrh 180.0 r50.0 27,O
39263420/1 rurlnruh, rlbrn runtu, rJbd c< mnrrh 400.0 50.0 20.0
39263510/1 ubnrluL, rhnBn c< hurr,n 25.0 300.0 7,5
39263520/1 ubnduh, rlhohtu c< hurr,n 40.0 945.0 37,8
39263530/1 ubnrJrutr. rlbd c< hrurn 60.0 200.0 12.0
31531210/1 hrbLrnnuLu.rtr lurJru, 60W, 80W, 100W PCU< hrurn 100.0 144.O 14.4
31531500/1 qbnbtrrurhtr rurJul 60uf FCU< hrurn 400.0 50.0 20.0
31531600/1 qbnbLrurhtr rturJw'l 20url ccu< hurrn 500.0 70.0 35,0
31651100/1 rlbhnruht druurudbtr. onuLru&h pcu< hrum r50.0 12.O t,8
31683300/1 bnrupru2|u f 1, {upryu!f t dfr u9r{nq, runrutrg

r urnh

Feu< hurm 250.0 32.0 8,0

31685000/1 hrbhmnuLutr bnhtunruqilultr lun FCU< hum 1,600.0 13.0 20,8
39221130/1 puduht-rbn ccu< hurn 300.0 24.O 7,2

39221140/1 Bbrh lrrud unrn6h nrudruLLbn FCU< hurn 225.O 24.O 5,4

39513200/1 BnBb rutrdbnnqhU, bnUrbnm FCU< hruur 100.0 369.0 36.9

39522250/1 r"h nrn r hru rluprlutr hm nntrbn pcu< hruur 280.0 75.0 21.0

3971-1220/1 tr hhur nu hrutr u n6bthtbn PCU< huur 3.500.0 20.0 70.0

39711230/1 rabrh uutnnuurnrlutr htbLr,nnuUrutr uunpbn FCU< hruur 7.000.0 16.0 112.0

39831245/'.| o6run, hbnnrtt PCU< rhmn 320.0 25.0 8,0

44521170/1 hnnqbpbbn FCU< hrum 4,550.0 10.0 45,5

44521200/1 hnnurbptrbnh rJuubn FCU< hrur,n 1.200.0 40.0 48,0

3241',t130/1 hturJruquLq c< nnrurl 4.000.000.0 '1.0 4000,0

34351200/1 ru rJrn nrlbpbhutrbnh rubhdtbn c< hrurn 55.000.0 4.O 220.0

34351200/2 ru rl m n rlbBbtr tutr bn h rutr h rltu bn c< hurm 55,000.0 4.O 220.O

34351200/3 u dm nrlbpbtrutrbnh utrhrltrbn c< hrum 55,000.0 4.0 220,0

34351200/4 urrl un n tlbobtrutrbnh ufu hdtbn c< hurrn 60.000.0 4.O 240,0

34351200/5 rud m n llbobtr urbbnh uLhtlbbn c< hruu 40.000.0 3.0 120,0

34351200/6 urrl m n dbobtr rutrbnh rutrhrltr bn c< hruur 39,500.0 2.0 79.O

o9132200/1 pbbqh!, nbqnrnun c< rhmn 11700

30121460/1 rn ntrbnuthtr Brunm nhqtrbn c< hurn 4

30121460/2 rn ntrbntuthtr Bunur nhqtrbn c< hruur 4

30121460/3 mnlrbnurhL ptunmnhgUbn c< hrur,n 8

30197631/1 pnrtp, A4 $nprfturnfrl /21x29.7/ c< rn n rrfr 250



32411130/1 hrurlugrutrg c< .[nrurI
1.0

ttuu ilt. uunu3nhr}3nh'LLbn
44972.850111130/1 u{ur nrlbpbtrutrbpfr tlbpurtrnpnqrlrutr

turnrugnrBlnrtrhbn
c< nprurl 6,514,900.0 1.0 6514,9

50111130/1 u rlrn nrlbpbtrrutrhpfr rlbputrnpnqrlrutr
&runtu;nrB;nrfutrbn

c< 'Iprur.t

50321400/1 pugnrg [r1 (6u1p rurftu urulfrtr) uuppbpfr
rl bnrutr!pnqrlruh dunurtnrrarnrbLbn

c< 'lprurl 990,000.0 1.0 990,0

50321400/1 pugntgfrl (6ru;p rudruurulfrtr) uruppbp Jr

q !Irutrnn nqdrufu 6unturnrlarnr!!bn
c< npurl 1.0

50531200/l f 1b ! m p ru ! rutr u u ppb p [r, u ru pp u rln p n ultr bp ]r
rlbprufu npnqrlutr h qruhu1ruhrlurtr
6u nu t n rrar n rtrtr bn

c< 'lpurI 510,000.0 1.0 510,0

60181100/1 pbntrurn urpbbpfr {updur!rulnrplnrL'
drunnnnh hbm dhruuhtr

pcu< rlprurl 120.000.0 1.0 120,0

64111200/1 rlrnutn ulfrtr 6unrulnrplnrtrfu bp' !uu1r{ru6
!tudulltrbpJr hbrn

FCU< 'lprud 240.000.0 1.0 240,0

64211110/1 Ln b r1url frtr h b nu fu n u u1 Jrtr du nru.; n rp1 n rtrt hp FCU< nprurl 1.800.000.0 1.0 1800,0
64211120/1 df gpurpuprulfrtr hbnu[unurulfrtr

drunulnrBqnrhhbp
PCU< rlpurl 3,728,300.0 1.0 3728,3

64211130/1 pglu1hL hbnru Junutrbpfr 6runruln rplnrbtrbp pcu< rlpuil 3,200.000.0 1.0 3200,0
65111100/1 furlblnr gpJr pru2funrrl PCU< rlprutl 139,200.0 1.0 139,2

653t1100/1 f 1b!rn put1rubnrplutr ptu2Jun rrl PCU< 'lpud 11,169,900.0 't.0 11169,9

66511170/1 {n fu u4prurlfrgngtrbpfr hbm !ruqrlrud
u quhn{ruentuUut 6tunrurn rralnrLLbn

pcu< rlpurl 560,000.0 1.0 560,0

70331300/1 n1 pL u I bfr ru!2ru pd qn r1p[r 11 u nur rlru p rlurtr

6u nu r n rlar n rtrtr b n

FCU< rlpurrI 5.771.600.0 1.0 5771,6

7221117 4/1 hru2{rurqruhulurb hrurlullrunqttu1hfu
dpuqpulf L qh upbpbbpfr d2urlrftutu
6urnur rnrrar nrLbbn

Feu< nprurl 90.000.0 t.0 90,0

72212227 /1 h ru I ru {f p n ru ru1 frtr h ur rlur I ru pqlu1 htr
dpuqp ulf L f ur pbptrbpf rl2ru! rftutr

6urnurrnr nrnrLhhn

c< nprurl 861.000.0 1.0 861,0

72311110/1 m { u 1b bp I r{bp ru rf n fu rlurtu 6u nru1 n rp1 n rtutr bp c< tlprurl 740.000.0 1.0 740,O

72511100/1 gtuLgh Iru nrurlruprftutr dpuqprulfrtr
tutltuhnildub 6unrurnrrarn rtrtrbn

FCU< 'Iprurf 495,000.0 1.0 495,0

75131200/1 fuprlqujhtt nbunrputrhpI hbm 11uu1[rud

ptr4hrutrnrp 6unur.;nrplnrtrtrbp
lrrrrnrrrrlrrrnnr arrrrfu hrrrrfrrr.

pcu< rlprurl 264.000.0 1.0 264,O

79'111200/1 trbp!rulrugnrglullurt drunrulnrplnrtrtrbp FCU< nprurl 330,000.0 1.0 330,0
79A21170/1 m q urqp u ! rub h ru nrupdrutr 6ru nrul n rp1 nrtrtr bp c< rlprud 490.000.0 1.0 490,0

79821170/2 m q urqp ru ! rutr [r ru nruprlutr dru nru.; n rp1 n rbtr bp c< 'IpurI 500,000.0 1.0 500,0

79821170/3 rn q ruqp ur t1 ru! h ru nuprlrutr du nrul n rp1 nr.trtr bp c< rlpurl 260,000.0 I.0 260,0

79951100/1 rlfr2ngrunn rrltrbp [r hbrn qruu{{tud

durnurrn Lrarnrtrtrbn

FCU< rlpud 850.000.0 1.0 850,0

90511160/1 n1 {mutrqur{nF unFh h purfrnbtrbpJt

h b nru g rlrutr h nltrlu g rlurtr dru nu; n rp1 n rLtr b p

FCU< npuf 80,000.0 1.0 80,0

90671100/1 ru Ju rn tu h tutr dutr h rlur 11 ru p n rldtr bp ft

nltrlug drutr du ntu.;nrp1n rbLbp purqtupulf tt

Irrrrrf nrnrnrrrlrrlrh rltntnhnnttl

pcu< rlprutl 45,100.0 1.0 45,1

92421100/1 pbppbpnrrl h ru.; ur tuptupnrp1nrtltlbnh

rn wuqndulh 6runrulnrralnttr

PCU< rlprud 220.000.0 t.0 220,0

92511110/1 up Ju[rrlrulfttr 0unrulnrplnrbtrbp FCU< rlpurl 429,000.0 t.0 429,O

983111 50/1 rlnppb ru pur ru4ptlbptrbpfr rlurpprlutr

0urnrurnrorn LtrLbn

PCU< rlpurl 300,000.0 1.0 300,0

72411300/1 hudrullurpqlrul frtr(www) fgf 6hu{npdtutt
du nrul n Lpl nrtrtrbp

Feu< nprurl 367,000.0 367,O

99600000/1 trbnphtr qnn6ntnnu.[trbn cau rlnrurl 3907,8 3907,8


